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QUESTION 1

Scenario: A Citrix Engineer must provide remote users with access to their corporate e-mail from their mobile devices. 

The engineer must ensure remote users\\' mobile devices meet the following requirements: 

-

Mobile devices require a PIN for corporate email. 

-

Mobile devices cannot be jailbroken. 

-

Mobile devices must be enrolled to XenMobile Device Manager. 

-Only iOS devices will have access to corporate email. 

Which component should the engineer include in the solution to enforce the requirements outlined in the scenario? 

A. WorxMail 

B. App Controller 

C. TouchDown mail client 

D. XenMobile NetScaler Connector 

Correct Answer: D 

 

QUESTION 2

Scenario: A company with 20,000 enrolled users recently acquired another company with 7,000 users. All new users
also will need access to mobile MDX apps. Each server\\'s specifications include four vCPUs and 16 GB of RAM. 

What is the minimum amount of XenMobile cluster nodes required to support this environment? 

A. One 

B. Two 

C. Three 

D. Four 

Correct Answer: C 

 

QUESTION 3
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Scenario: Management has asked for all LDAP communication to be secured. A Citrix Engineer has modified the LDAP
server address to use the Fully Qualified Domain Name (FQDN) and has changed to the default secure port. After doing
so, the XenMobile Server cannot save the new settings and prompts with the error "Cannot connect. Try again." Which
two things should the engineer verify to resolve this issue? (Choose two.) 

A. That the firewall between the two servers is allowing traffic over port 636 

B. That the firewall between the two servers is allowing traffic over port 389 

C. That the server certificate of the domain controller has been added to the XenMobile Server 

D. That the root certificate of the domain controller has been added to the XenMobile Server 

Correct Answer: AD 

 

QUESTION 4

Scenario: A Citrix Engineer needs to deploy a XenMobile solution for a large organization. The organization will use
XenMobile to manage Android and iOS devices. 

To provide resilience, NetScaler appliances will communicate with XenMobile Servers. The engineer has deployed all
necessary infrastructure and opened the required firewall ports. To load balance mobile device management traffic, the
engineer has configured NetScaler to use SSL_Bridge to communicate with a XenMobile Server cluster. 

Which persistence method should the engineer configure to facilitate consistent communication between the NetScaler
and the XenMobile Servers? 

A. SSLSESSION 

B. CUSTOMSERVERID 

C. DESTIP 

D. COOKIEINSERT 

Correct Answer: A 

 

QUESTION 5

After publishing an Android MDX application, a Citrix Engineer finds that the application only installs on devices running
Android OS 4.3 and above, instead of all Android devices. 

What is the likely cause of this issue? 

A. The key used on the certificate to wrap the application uses a DSA key algorithm. 

B. The certificate used to wrap the application has expired. 

C. The certificate used to wrap the application uses SHA1 and DSA Signing algorithms. 

D. The key size of the certificate used to wrap the application is 2048 bits. 

Correct Answer: D 
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